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- LEA OIRACEIZT SA
5,0002 x8Z x8Y x123] 3,840
o 7.2%2
- 202 TE2E%Y Uxie
350,000 x2CH x5 x2 3 7,000
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:(3000)ZMOHLHl B (3300)2ERH SEHLY 8 :(3330) 2 & 22 M (333N AL 8T MIAIE: (120) 2 4 = Z b R L=k
i = S == S i}
of &b o AF 2 ol =
.28 NE . HAE = of & % = oA
CAMTS HNEH ANB(TE,S)
350,0002! x2CHx23] = 1,400
o 9. AIEFHIR XY
H2E 24XY KA 600,00084x23] = 1,200
28229 35 X2
S 1,48521x6 £ x80AI 2tx35 = 2,139
a8 1,14581x10 £ X 100AI2t = 1,145
21l 500,000 x45x23 = 4,000
WG 0S4 ZHI| 22l L DE AAH
500,0002!x 13 = 500
202
oF il 28,950 31,360 2,410
28,950 31,360 A2,410/01 SO
o FQAPEXH 20,0002 x17Hx5Lx 128 = 20,400
o MUBRAFMSDSE ZF 0|
45,0002 x3% x3L x63] = 2,430
o RlgeIe FX 0| 45,0002 x3x6Lx35] = 2,430
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Z:(3000) RN Hl  2+:(3300) IEXN S EIN L 8:(3330) AL B2 Mg (3331) A M8 & K& (120) 3 & = ZH| EErEGRE)
2 = S R im)
off &b o A = 9l 2
I+ 2 s NIE AIAIE = S A=
o LAXNISHE FX0Y
45,0002 x2H x4 L x53] = 1,800
o ARl =T 45,0002 x3Hx5L %28 = 1,350
o TZAHS2L H2US FAWH
45,0002 x2H x3L 23| = 540
203
R 4,200 4,200 0
4,200 4,200 004 FASIALFL|
o RA2Y ARFTHI(FH:29Y)
350,000@!x 128 = 4,200
301
Aste Mz 55.624 60,801 N5 177
55.624 60,801 A5177(09 B2 RABAZ
° 3AZPLA(BAIY X MREX)
- ez 65,0002 x20x 128 = 15,600
- A 4,000 x20 x22Lx128 = 21,120
- WS 1,8002x20H x22Ux128 = 9,504
- n=




&:(3000) 2 MIOHEHl  2:(3300)=2E Xt JNEH| & (3330)AH & 22 Mgt (3331) ey NI AIE: (120) ZHl chel & ]
ot [
EMIE AN =2 &b A = A 2
285 130,000&x20¥ x2& = 5,200
get= 130,000&x20H = 2,600
DX 5,000&x20H 100
=) 35,000&x20Y 700
O 10,000& x20H x 13 200
- ToHeg 15,0002 x20H x2d 600
200
AHS Ol AF 1,307,910 1,448,638 AN140,728
220
AEAIAFS 1,307,910 1,448,638 A 140,728
206
M= bl 49,110 52,570 A3,460 | 2@ L S
- & 5,000&x102 x53] 250
- =2AH0I 6,000&x10¥x13 60
- "Xz 4,000 x109 x22] 80
- Br3Rg & 330&x10¥ %1002 330
- Q&) 20,0003 x10Y x 13 200
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Z:(3000)ZHHLH 2 (3300)IEXNLEINLH & :(3830) A& 22 I (3331) A S A RIKIE: (220) KERI A CREGREY
2 = & 4 = | |
off &b o AF 2 ol =
g NE HAE = of & A = oA
- JlEF R (D2t S8, ATH 213 S)
500,000 x 144 = 500
o AU JIRE ¢ 2oS BTN 7Y
- S22 60,00021x600 = 3,600
- Mz 25,0002 x20000 = 5,000
- oHF| 25,0002 x20001 = 5,000
- HZI(USRLUE) 300,000 x107H = 3,000
- A 70,00021x205 = 1,400
- BHERODID] 50,00024x35x50 = 750
- S0 100,000&x200H = 2,000
o TRALE B4 P
- 2 20,000&x100m = 2,000
- FAA 45,0002 %200 = 900
- AHE 4,00021x200% = 800
- 23 15,0002/ x100E = 1,500
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H:(3000)ZHINLH  2:(3300)2EXSENLHE B (3330) A& 22 Mg (3331) A E HIAIEE: (220) RERI A2 [22E] [ &2
o = ST I = e i)
o &= o = pJ =
.2 g HE. MM =] of & o s A 2
- 0 7,0002x100E = 700
- dEZ2 6,70021x200m = 1,340
- ota= 44,5002 x200E = 8,900
- HoOtAR HMel 27, ,5002x200E = 5,500
- DSYNE M HOE 20,0002X508 = 1,000
o E224 I 7Y
- OlAZIE Hog EY 280,0002x 100 = 2,800
o H&g dazs g 1,500,0008 = 1,500
207
ey =T 29,500 29,500 0
29,500 29,500 0/02 &AM EHY]
o TRALE GIS KXz 5,900,0002x5km = 29,500
401
NPELIEIE 1,223,600 1,359,568 135,968
CH |
1,220,000 1,355,000 135,000 /01 Al&H
o JI2E RNES 20,000,000&x14! = 20,000
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Z:(3000)ZHOHLH 2 (3300)2ERISE Nyl ot (3330) A& 22 Mg (3331) A M 8 = I8 2 (220) KERI AR E=ENI=EE)
'} = SRR == m)
ol o o i - A = 5 =
X 2.5 IS HIAIE 2 O A M| = oA
o 0K BUZ T2=E] 300,000,000 x14l = 300,000
o BUCZ 2ZRXE2 200,000,000 x141 = 200,000
o AEAD B 150,000,0002x 14! = 150,000
o QEZ MAHE =21 IHH(L=25m,B=15m)
500,000,000 x 14l = 500, 000
o 2EE MIAILS WA (40IHL)
50,000,000 x 14! - 50,000
3,600 4,568 A968|03 Al&ECHYI
o TEAY AIAEHH 500,000,0002%0.72/100 = 3,600
405
XHAHE S| 5,700 7,000 A1,300
5,700 7,000 A1,300(01 KHAtL 2Z 5 =)
o DAIEAIZE] Z278 ¢l 5,000,0002x14] = 5,000
o SAMEI g 700,0002x10 = 700

_52_




F:(3000) 2 MK b (3300) PRl S Z=OH 2| 8 :(3330) A A 22 ME:(3332)NIABIOHZ 2 ALY HIAIE: (210) 2= ALY G & ]
= S-S m
& o oo & = 0 x
. =2 &b oA = A 2
(=2 0 460,000 1 0]
1,275,157 906, 341 368,816 =3 0 0 Al 7 ]
(=2 0 460,000 0]
1,275,157 906, 341 368,816 =3 0 0 Al 7 ]
(=2 0 460,000 0]
1,124,032 402,880 721,152 (2 0 0 Al 2 ]
401
NE=LET =] 1,124,032 402,880 721,152
CHH
1,120,000 400,000 720,000(01 Al&H]
o AW s2M(s55T304) T2 A(L=50m,B=5m)
160,000,000 x 14! 160,000
(%) 80,000
(Al 80,000
o PEIS PWHM(2IE205) &2 &I E(L=200m,B=6.5m)
160,000,000 x 14! = 160,000
(%) 80,000
(Al) 80,000
o QS 2EH(21£203) =2 I X (L=200m,B=6.5m)
120,000,000 x 1Al 120,000
(%) 60,000
(Al 60,000
o SoHH S&H(21£201) =22 A (L.=200m,B=6.5m)
120,000,000 x 1Al 120,000
(%) 60,000
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X:(3000)BHIONLH] 2+ (3300)2EXNADEINLY| 3h:(3330) 2L 22 ME:(3332)NIABIOHZ 2 ALY HIAIE: (210) 2= ALY [HE] (o2&
ot = PSR R mi
ol o o i - A = 5 =
I 2 S MIE . NIMIE =2 O]l &b oM = A 2
(Al 60,000
o Mg QRM(HE101) E23HE A (L=500m,B=8m)
400,000, 0002 x 1Al = 400,000
() 100,000
(Al 300,000
o HED AU (215£203) & 2= & (L=200m,B=6.5m)
160,000,000 x 1Al = 160,000
(%) 80,000
(Al 80,000
4,032 2,880 1,152/03 Al& 2 HYI
o XYSoTZAIY Al&=201Y|
1,120,000, 0002 x0.36/100 = 4,032
220
KR AFSS 151,125 503,461 N352,336
401
NE=LE =] 151,125 503,461 A352,336
CHH|
150,000 500,000 AB350,000/01 Al&H|
o (™ e2el sHorE2 JH& (L=800m,B=6.5m)
- Al&H] 143,880,000 x 14! = 143,880
- ALAIA& A 150,000,000 %x4.08/100 = 6,120
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ZH:(3000) B MIDHEH]  2:(3300)2EXNREZIHEH| &:(3330)Ha 22| MIE: (3332) KILB ot 2 ALY AIAISE: (220) AFAIAF [dRAH] [ AH]
Ot = P I H ml
of &b o AF = 9l =
& 2.8t HIE MAIE =2 of A M| = A 2
1,125 3,461 A2,336/03 AlE20HH
o X EEOIT R ALY A|&2HH
156,250,000 x0.72/100 = 1,125

A E g 11,209, 191 10,686,591 522,600
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